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sy L A lot of food is wasted all over the world. If we use food that wasn’t eaten

and was disposed of before to make concrete, we can reduce the amount of
food that is wasted. (35 words) ’ :

(6]
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(@2) | (2)-a

(3]

while you were sleeping, your brain has removed all the unnecessary

431" memories that made your brain full. (17 words)

(5]

(rel (F73

Type-A is better for discussing the topic because it has a leader who can put
everyone’s opinions together by looking at his or her face. Someone must make a

"t decision because the survey shows there are many different opinions among students.
| i So, the leader can decide what is most important after they have a discussion. (55
words) :

Type-B is better for discussing the topic because seeing each other's faces helps

| students express his or her opinions more freely. The survey shows there are many
| different opinions among students, so we need an open discussion. Type-B lets
students work together and listen more carefully to these opinions before deciding.
— (51 words) '
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